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E4 ~ I\ e iR .
ZED 1, 500 1, 500 2,430
XA 4, 610 4 610 6,570
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—Ht ~ HE EREARR - RIGERR .
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R ~ 34 sREAH - BE - AEEAR |
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, | KA 4, 420 4, 420 5. 890
=) ~ FAR EREARE - H/NE - HEXRR .
Pk 3 92200 92 900 3. 670
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thig ~ HAT  |R24A& e
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KA 5. 660 5. 660 8. 080
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) KA 5. 660 5. 660 8. 080
thif ~ EF=A HE2FXK — s
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KA 2.110 2 110 3. 040
WrE  ~ y ) PR e
—E1 1, 050 1. 050 1. 980
KA 3. 380 3. 380 4, 850
B FF ~ %E Ty HEXRE .
—E 1, 680 1. 680 3. 150
KA 3. 380 3. 380 4, 850
A FF ~ o SERE HEXREE e
-E 1, 680 1. 680 3150
KA 5. 140 5. 140 6.610
21| FF ~ = I HEAXKR -
-E 2. 560 92 560 4,030
KA 1, 950 1. 950 92 880
X9 ~ {18 SEY ¥ -
—E 960 960 1. 890
KA 3. 380 3. 380 4. 850
X5 ~ $iE [ B2 KR .
—E 1. 680 1. 680 3. 150
) KA 3. 380 3. 380 4, 850
X5 ~ A 2R HEX{R S
—E 1, 680 1. 680 3. 150
N KA 5. 140 5. 140 6. 610
AR ~ =) HEXE R
-E 2. 560 92 560 4,030
. KA 5. 140 5. 140 6.610
X5 ~ = BE2ARE —
—E 2. 560 2. 560 4,030
KA 92310 92 310 3. 240
E [11] ~ 'E.-'lllﬁ E%*ﬁ — i
-E 1,140 1. 140 92 070
KA 92310 92 310 3. 240
E il ~ ﬁqﬁmﬁ E%*ﬁ — e
-E 1. 140 1. 140 92 070
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_ KA 2,420 2,420 3, 350
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_ED 1,200 1,200 2,130
KA 2,040 2,040 2,970
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_&ED 1,010 1,010 1,940
_ KA 2,040 2,040 2,970
BMmH ~ Ry HE AR .
_&ED 1,010 1,010 1,940
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HRH ~ B IR ZEE BEAE - HER - BEIGZER o
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KA 1,290 1,290 2,220
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_ED 640 640 1,570
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g% ~ HH EREBAR - AKKR .
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. KA 4,010 4,010 —
g% ~ B e ERERR - AKRER S
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| KA 4. 830 4. 830 7.720
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T ~ REA FEIREAKER - LINFTERER R
—Et 2 410 2 410 5. 300
KA 4,100 4,100 5. 960
Vi ~ B EBAL - LNTEE -
P 3 2 040 2 040 3. 900
KA 5. 400 5. 400 7. 800
KI5 ~ REA RIBALR = LN FTEFER R
P 3 2 690 2 690 5. 090
KA 5. 090 5. 090 6, 950
et R ~ e A RS - LN BT —
—Et 2 530 2 530 4. 390
KA 9. 970 9. 970 13. 890
{15 ~ ERBGR | EBAS - ANEGSBE -
P s 4. 980 4. 980 8. 900
KA 11,310 11,310 15. 770
£ i ~ EREHR |[RBRER - UNHHER -
—Et 5. 650 5. 650 10, 110
EHE o~ mRgmg  |[EHERE - REAR - AMFRE | AN 10,720 10, 720 14,640
P 3 5. 350 5. 350 9. 270
I | o KA 10, 290 10, 290 14. 210
~ IR & s IR EREE - LINFTERER
(AL FL P T PR) By R i -4 5. 130 5. 130 9. 050
A = it B N KA 10, 290 10, 290 14. 210
(AL L T PR) " T - &4 5. 130 5. 130 9. 050
= B N P KA 10, 260 10, 260 14. 180
(LA TR) i i - 5. 120 5. 120 9. 040
1 B2 B S P KA 10, 260 10, 260 14. 180
(LAMTRA) 5 i ZE1 5. 120 5. 120 9. 040
Bz KA 10, 800 10, 800 15. 260
=) ~ — HEXRE - EREAXRIE - LINFTFHE
= (B TN) i BT 5 380 5. 380 9 840
KA 9. 260 9. 260 —
x4 ~ ERBRR |ZEE - ANFRE .
P 3 4610 4. 610 —
KA 9. 260 9. 260 —
Il ~ IREhf | FEAE - S0 - NS —
P 3 4. 620 4. 620 —
| KA 2 370 2 370 4. 230
INE ~ = BIREXRLE - RIGARLE -
P 3 1,170 1,170 3. 030
| KA 3. 650 3. 650 6, 050
INE ~ £ {R BEIREXRLE - RIGAKLEE - (EHAZRLEE S
P 3 1,820 1,820 4. 220
I | KA 4. 420 4, 420 6, 820
~ I BIREXRLE - RIGAKLE
(AEAMTH) x = ZE 2.200 2200 4. 600
HEAE . LR - EEEAE - £ XA 5, 140 5,140 8, 080
X 5] x
< = LN —E 2 560 92 560 5. 500
REA - BIE - BREAG - & KA . 140 0. 140 8, 080
Al FF ) x
x CES 2 —Et 2 560 2 560 5. 500
KA 3. 240 3. 240 5. 100
SEff &l 3nk HZ2 KR o
P 3 1,610 1,610 3. 470
| KA 4,730 4. 730 7.130
5 REMRE Q244K - EREAS —
P 3 2 350 92 350 4. 750
| | KA 5. 860 5. 860 8. 800
K4 sREhR |(AE2AE - EREAG —
-t 2920 2920 5. 860
| | KA 5. 860 5. 860 8. 800
Bl sEREhR |BEAR - EREAE .
—Et 2920 2920 5. 860
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